Inertia and Newton’s Laws 

Take the force of gravity (g) to be 10 N/kg where you need it
1.
What is meant by the inertia of an object?

…………………………………………………………………………

…………………………………………………………………………

2.
If an object is at rest or moving at a steady velocity, what can you say about the forces acting on it?

…………………………………………………………………………

3.
A free fall parachutist falls at his terminal velocity of 50 m/s. If his mass is 85 kg:

(a)
what is the pull of the Earth on him in Newtons;

(li)
what is the frictional force of the air on him?

(i)………………………………………………………………………

(ii)………………………………………………………………………

4. What is meant by the word weight?

…………………………………………………………………………

5.
If you are in a car that accelerates suddenly, what happens to you and why?

…………………………………………………………………………

6.
What force gives a mass of 3 kg an acceleration of 4 m/s2?

…………………………………………………………………………

7.
A force of 50 N is applied to a mass of 10 kg. What is its acceleration?

…………………………………………………………………………

8.
A force of 16 N is just sufficient to keep a trolley moving along at a steady velocity. If the trolley has a mass of 4 kg:

(a)
what is the force of friction on the trolley?

(b)
what is the acceleration of the trolley if the force is doubled, the frictional force  remaining the same?

(a)………………………………………………………………………

(b) ………………………………………………………………………

9.
A girl of mass 35 kg sits on a stool. What is the reaction of the stool on her?

…………………………………………………………………………

10.  The thrust of a certain rocket engine is 100 000 N. If the mass of the rocket at take of is 5000 kg what is the initial acceleration of the rocket?

…………………………………………………………………………

…………………………………………………………………………

11.  A block of mass 2 kg is given a push to start it moving along a bench. Once it is moving, a force of 4 N is just enough to keep it moving at a constant velocity.

What is the acceleration of the block if the pull is increased to 16 N?

…………………………………………………………………………

…………………………………………………………………………

12.
 A car travels along a road. The thrust of the car is 1200 N, the wind and road resistance gives a drag force of 200 N. If the mass of the car is 1000 kg what is the acceleration  of the car?

…………………………………………………………………………

…………………………………………………………………………
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